Completing the Square April 15, 2019

Warm-Up:

1) Write the equation of the line in slope-intercept form that

passes through the points (1 3) and (-5, 9). \ U- 1, = v (x 'XD
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Factor by grouping: T A3z
3) 3x’ - 12x%+ 5x - 20 4) 16ab - 20a’)+ 4b - 5a*
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In a perfect square trinomial, there is a relationship between the
coefficient of the x-term (b) and the constant term (c).

oX +ox + C.
X2+8x+.16 x> - 12x + 36

If we divide each x-term by two, then square the result we get the
constant term.
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Completing the Square: is the process of writing a quadratic
equation so that one side is a perfect square trinomial.

a.x2+_2_x+_\

b. x* - 6x + 9
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c. X’ +5x+_<
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1) Complete the square to form a perfect-square trinomial.
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Rearrange your equation so it looks like:

oxZ +bx, +

% If a 1, divide every term by a.
=)

In the squares, writ

Solve for x.
po-
6\f~b< Solve by completing the square.

This method allows us to use the square root method to
solve quadratics that cannot be rewritten as (0.} X =

[ 1-c +[]

. 2
b
Now, you can rewrite the left side as x 2.

+

Take the square root of each side. Don’t forget the ™

2x"—24x+lo= O,
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3) Solve by completing the square: x*-4x -45=0

Step 1: ax* +bx=c¢ 7&,2— - + ?:45—4’[:)
A4 _
Step 2: b/2 > 2

Step 3: (b/2)? C:i‘)l = 4
Step 4: add (b/2)° —h, +4 =45+

Step 5: factor 2*‘-[% "ot = 49
(O =

Step 6: Solve xX—-2 = ﬂ‘ﬁ X= C] -<
x—2= 17 ?
X=2*F

2) Solve by completing the square: x* + 8x = 1
Step 1: ax* +bx =c¢
Step 2: b/2 % = L]L

Step 3: (b/2)? (LDZ: Lo
Step 4: add (b/2)° X2+?K+l<0: | + 1 b

2
t4) = |+
Step 5: factor < >;( :i?: 1+

Step 6: Solve X = —L—} * (J |
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Find my mistake:

Solve by completing the square: x* + 4x = 12

beY 2 +lr=12 (%@'L =l

Yp=2 % % Hact4= | 24Y . =
T vt N
(D xd)=lg T =1
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